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Vraag Antwoord
12 maximumscore 3
* Als aantal weken = 6, dan totaal aantal gezette prikken = 9,54 (miljoen) 1
* Als aantal weken = 7, dan totaal aantal gezette prikken =
10,63 (miljoen)
* Het antwoord: 7 (weken)
Cannelloni
13 maximumscore 1
Cilinder
14 maximumscore 3
+ Straalis (3:2=)1,5(cm)
e 3,14%x15x%x1,5
* Het antwoord: 7 (cm?)
15 maximumscore 4
e 7x12=284(cmd)
e 1,2 literis 1200 cm?
« 1200: 84 (= 14,28... cannelloni)
+ Het antwoord: 14 (cannelloni)
16 maximumscore 2

e 27 :3 =9 (cannelloni) en 24 : 12 = 2 (cannelloni)
* Het antwoord: (9 x 2 =) 18 (cannelloni)
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